INBURIFRESL  srmam e

Series
g PL 4 - 01 C
 — T -1 T
1 1 1 1
1 1 1 1
— =L : i -
gE2 PU 4 . C
_T . 1 -
1
1 1 :
& ¢ $ J
0}::23
QERESHER
A 3 4 6
K (m) @4 @6 @8
IRLINAG
7 LD 55° #EEIBL | 55° EEIEAL
& | M3 | M5 | M6 01 GO1
Mg |M3X0.5|M5X0.8| M6X1 R1/8 G1/8

SEI @D BRER SEhE L.
@ FFUNHRERIERSKEY 405, BRINSEIL/ AL,
O EEFRANBRRIF AMERMER AN, BRIBNE, RED5E.
@R AR AT AR fE I ANS 5.

R =5 K (BEH
TEEASEE 0~1. OMpa
FREZES -100Kpa(10Torr)
TERESEE 0~60°C

5 EHKNEHT, ERAERERO~60C, TEEANA
0-0.3Mpa, K7k CPEHR) &, FLREWMASHBTFET

| BEFHE
| * BT i AR 04
m\f::q o ©4 ; #12mm
BYMS5 L a25M5
INBY FREE

[ESF ( BRAE)
_BackRing(POM) % ( B

THE (TS ) Collar(Brass)
Packing(NBR) B &/Nylon Tube

PU%E/Polyurethane Tube

- T BEEE)
@L‘] Sleeve(POM)

|
|
| N\ #H (FER)
|
|

\esin Body(PBT)

1k (5548 )
letal Body(Brass)

oM ( THtag |00k C1aWs(SUS)
! [DY<=——0-Ring(NBR)

31 GINIER



-

i

%% SohBiB/ B

iz

Sk
~N

PCF Y24 B 1B 2R i

L3

L4

32

#e | op T L1 L2 | 3 | w4 |[shinH
PC3M3C| 3 | M3xo5 | 3 | 155 | 125 | 95 | 8
PC3M5C| 3 | M5x08 | 35 | 16 | 125 | 95 | 8
PC3M6C| 3 | Mexi0 | 4 | 165 | 125 | 95 | 8
PC4-M3C| 4 | M3X05 16 | 13 | 1 8
PC4-M5C| 4 | M5x08 | 35 | 17 | 135 | 11 8
PCA-M6C| 4 | Mex10 | 4 | 175 | 135 | 11 8
PC4-01C | 4 R186 | 75 | 18 | 14 | 11 | 10
PC6M5C| 6 | M5x0.8 | 35 | 175 | 14 | 115 | 10
PC6M6C| 6 | Mex10 | 4 18 | 14 | 115 | 10
PC6-01C | 6 R18 | 75 | 18 | 14 | 115 | 10

e @D T L1 ] L2 | L3 [oP|xtizH

PCF3-M3C | 3 | M3x05 | 4 | 16 | 95 | 8 | 8

PCF3-M5C | 3 | M5x08 | 5 | 175 | 95 | 8 | 8

PCF3-M6C | 2 | Mex10 | 5 | 175 | 95 | 8 | 8

PCF4-M3C | 4 | M3x05 | 4 |175| 11 | 8 | 8

PCF4-M5C | 4 | M5x08 | 5 | 19 | 11 | 8 | 8

PCF4-M6C | 4 | Mex10 | 5 | 19 | 11 | 8 | 8

PCF4-01C | 4 R18 | 75| 22 | 11 | 8 | 12

PCF6-M5C | 6 | M5x08 | 5 | 19 | 115 | 10 | 10

PCF6-M6C | 6 | M6X1.0 19 | 15 [ 10| 10

PCF6-01C | 6 R18 | 75| 22 | 115 | 10 | 12

RE @D T L1 | 2| 3 ||er Xq:@
POC3-M3C | 3 | M3X05 | 3 |155]| 125 | 95| 8 | 15
POC3-M5C | 3 | M5x0.8 | 35 | 16 | 125 | 95| 8
POC3-M6C | 3 | MeX1.0 | 4 |165]| 125 |95 8
POC4-M3C | 4 | M3x05 16| 13 | 11| 8|15
POC4-M5C | 4 | M5x08 | 35 | 17 | 135 | 11 | 8 | 2
POC4-M6C | 4 | M6x1.0 | 4 |175| 135 | 11| 8 | 25
POC4-01C | 4 | RU8 | 75 | 18 | 14 | 11| 10
POC6-M5C | 6 | M5x0.8 | 35 |17.5| 14 |115] 10
POC6-M6C | 6 | M6X1.0 | 4 | 18 | 14 |115| 10 | 25
POC6-01C | 6 | R1/8 | 75 | 18 | 14 |115| 10| 4

GINIER



#

—t

PLL K BB i

33

VRIAREL smmm mess

2 BME | gD | T LW | 2| 3] ]| s | op [shnH
| 5 PL3-M3C| 3 |M3x0.5| 3 12 [ 155 | 16 | 95 | 7 8
|r | pLa-msc| 3 [msxo8| 35 | 12 | 16 | 16 | 95 | 7 8
' k] . PL3-M6C| 3 [MeX1.0 12 | 165] 16 | 95 | 7 8
D PL4-M3C| 4 [M3Xx0.5 145 | 155 | 17 | 11 9 8
1A o pLa-msc| 4 |msxos| 35 [ 145 16 | 17 | 11 9 8
pLa-mec| 4 [mex10| 4 | 145|165 ]| 17 | 11 9 8
pLaoic| 4 | Ris | 75 | 145 ] 195 | 20 | 11 9 | 10
pLe-Msc| 6 |msx0.8| 35 [ 165 | 16 | 18 | 115 | 11 8
pLe-Mec| 6 |mex1.0| 4 | 165 | 165 | 18 | 115 | 11 8
pLe0ic| 6 | R8s | 75 [ 165 195 | 21 | 115 11 | 10
e oD | T W | 2| 3] 4| 5| op [shimH
pLLa-m3c| 3 |m3xos| 3 12 | 235 24 | 95 | 7 8
PLLa-msc| 3 |msxos| 35 | 12 | 24 | 24 | 95 | 7 8
PLL3-M6C | 3 |mex1.0| 4 12 | 245]| 24 | 95 | 7 8
PLL4-M3C| 4 |M3x05 145 | 26 | 275 11 9 8
PLL4-M5C | 4 |m5x0.8| 35 | 145 | 265 | 275 | 11 9 8
pLLa-M6C | 4 |mex10| 4 | 145 | 27 | 275 | 11 9 8
pLL4-0iCc| 4 | Rus | 75 | 145 | 30 | 305 | 11 9 | 10
PLL6-M5C | 6 |msx08| 35 | 165 | 28 | 30 | 115 | 11 8
pLLe-M6C | 6 |mex10| 4 | 165|285 | 30 | 115 | 11 8
PLL601C| 6 | R18 | 75 | 165|315 ] 33 | 115 11 | 10
RE 2D T W | 2| 3] 4| s | op [shmH
PB3-M3C 3 |maxos| 3 | 12 | 155 ] 16 | 95 | 7 8
PB3-M5C 3 |msxos8| 35 | 12 | 16 | 16 | 95 | 7 8
PB3-M6C 3 |mex10| 4 | 12 [165] 16 | 95 | 7 8
PB4-M3C 4 |m3xo0.5 145 [ 155 | 17 | 11 9 8
PB4-M5C 4 |msxo8| 35 [ 145 16 | 17 | 1 9 8
PB4-M6C 4 |mex10| 4 | 145|165 17 | 1 9 8
%E PB4-01C 4 | rRus | 75 | 145195 20 | 11 9 | 10
= - PB6-M5C 6 |[msxo8| 35 [165] 16 | 18 | 115 | 11 8
3| T PB6-M6C 6 [mex10| 4 |[165] 165 18 | 115 | 11 8
PB6-01C 6 | R | 75 [ 165195 ] 21 [ 15| 11 | 10

GINIER




NEVRIFEESL  sammi s

Series

PD T AR =ZBRiH

— Be |gb| T |L1|L2| L3 [L4]| L5 |@P NHm

ﬁlf | ! i l E PT3-M3C | 3 |M3x0.5| 3 | 12 | 155 | 28 [ 95| 7 | 8
o :

_ W s PT3-M5C | 3 |M5x0.8 (35| 12 | 16 |28 | 95| 7 | 8

: = N| Liu PT3-M6C | 3 |M6x1.0| 4 | 12 | 165 | 28 | 95| 7 | 8

o | [ n PT4-M3C | 4 |M3X0.5| 3 [145| 155 [315| 11 | 9 | 8

PT4-M5C | 4 |M5X0.8|35 [145| 16 [315] 11 | 9 | 8

PT4-M6C | 4 |[M6X1.0| 4 |145| 165 [315| 11 | 9 | 8

PT4-01C | 4 | R1/8 |75[145| 195 [345| 11 | 9 | 10

PT6-M5C | 6 |M5X0.8 |35 |165| 16 [345|115| 11| 8

PT6-M6C | 6 |[M6X1.0| 4 [165| 165 345|115 11| 8

PT6-01C | 6 | R1/8 |7.5[16.5| 19.5 [37.5|11.5| 11 | 10

PUBEER

\ L1 =) B2 | gD | L1 L2 | @P
2-L2 7

PU3C 3 235 | 95
PU4C 4 27.5 11
PUGC 6 28

2-0

1

\
===
——
2-0P
.

Be [ gb1 | @D2 | L1 L2 L3 oP
PG4-3C| 4 3 275 | 11 9.5 9

‘ h g g[ PG6-3C| 6 3 28 | 115 | 95 | 11
) - il 0 PG6-4C| 6 4 28 | 115 | 11 11

L1

®D2

PVEXEEATL

BS @D L1 L2 L3 P ad
PV3C 3 12 5 9.5 7 3.2
PVv4C 4 14.5 6 1 9 3.2
PV6C 6 16.5 | 6.5 1.5 1 3.2

2-0P

YIREC,

34 GINIER



INBURIFRESL  srmam e

Series

PETEHKE=&

£ #E | @D | L1 L2 L3 | oP | @d
o < ’
, . PE3C 3 12 5 9.5 7 3.2
\‘ ' PE4C 4 | 145 ]| 6 11 9 32
‘ : PE6C 6 |165]| 65 | 115 | 11 3.2
PM [RiREXE BB

2= @D L1 L2 L3 L4 H

L1 PM3C | 3 | 205 ]| 6 95 | 25 | 10

]
]
2-0D

PM4C 4 23 8 1 3 12

PM6C 6 24 9 1.5 3.5 14

i3
|
|
|
T
T
5
t

| - |

PYY FEXE=1&

BS @b (L1 | L2 [L3|L4| @P | @d

L3

N -~ \} 'L--|---/ ------ PYac | 3 |27| 7 | 9 |12]| 7 | 32

\ J HE : PYac | 4 |30 9 |11 |14]| 95| 32
; _

\ -~ == PYeC | 6 |33| 11 [11.5] 15| 11 | 3.2

]
3-0D

3-L2

PWY ESRIEE=1E

2-0P2 o_@D2

fn

#S | @D1|@D2| L1 L2 (L3 | L4 | L6 |@P1| @P2| @d

&% | pw4-3C| 4 3 275 12 7111 195] 9 7 3.2

S | -com—— A .

L1

=~
\ \' - |PW6-3C| 6 3 30 | 135 9 |115] 95| 11 9 3.2
‘ | "rl";r ! PW6-4C| 6 4 305 14 9 |15 1 1 9 3.2

35 GINIER



[RENEERK

s D1 T L1 L2 L3 L4 | L5| L6 [@GP| H
PX3-M3C | 3 |[M3X0.5( 3 |[315| 285 | 12 7 195 | 7 8
PX3-M5C | 3 |M5X0.8| 35| 32 | 285 | 12| 7 |95 | 7 8
PX3-M6C | 3 |M6X1.0( 4 |325| 285 | 12 7 95 7 8
PX4-M3C | 4 |M3X0.5| 3 34 31 14 9 11 9 8
PX4-M5C [ 4 |M5X0.8( 3.5 | 34.5 31 14 9 11 9 8
PX4-M6C | 4 |M6X1.0| 4 35 31 14 9 11 9 8
PX4-01C | 4 R1/8 | 7.5 [ 37.5| 33.5 | 14 9 11 9 10
PX6-M5C | 6 |M5X0.8| 35| 37 [ 335 | 15| 11 |115( 11 8
PX6-M6C | 6 |M6X1.0( 4 |375| 335 (15| 11 |[115]| 11 8
PX6-01C | 6 R1/8 | 7.5 | 40 36 15111 |115] 1 10
} H
IALY) 3
SC JNELFR B L&
s @D T L1 LZ. L3 | L4 |L5|@P1|@P2| H
max| min
SC4-M3C 4 |M3X0.5| 3 | 28 |255(|18| 7 (11 9 9.5
SC4-M5C 4 |M5X0.8|35| 28 |255(|18| 7 (11 9 9.5
: DIE SC4-M6C 4 |M6X1.0| 4 |285| 26 |18 | 7 (11 9 95
JIEE
fyFic
oP2
EilR= @D T L1 | L2 | L3 L4 L5 | gP M H
TL4-M5 4 |M5X0.8(3.5(|145| 6 125 | 125 | 8 |M6X0.75| 2
TL4-M6 4 |M6X1.0( 4 | 17 | 65| 135 | 135 [ 8 [M6X0.75| 3
TL4-GO1 4 G1/8 |55 21 8 14 15 8 |M6X0.75( 5
TL6-M5 6 |M5X0.8(3.5|14.5( 6 14 14 10 [ M8X0.75| 2
TL6-M6 6 |M6X1.0| 4 | 17 | 6.5 15 15 10 | M8X0.75( 3
TL6-GO1 6 G1/8 |55 21 8 16.5 | 16.5 [ 10 | M8X0.75( 5
TC AR R E AL
BS @D T L1 L2 | gP M H
TC4-M5 | 4 [M5X0.8]| 3.5 | 15 8 |M6X0.75( 8
TC4-M6 | 4 [M6X1.0| 4 | 155 8 |M6X0.75( 8
TC4-GO1| 4 G1/8 | 55| 19 8 |M6X0.75| 10
TC6-M5 | 6 [M5X0.8| 3.5 |16.5[ 10 |[M8XO0.75( 10
TC6-M6 | 6 [M6X1.0| 4 17 | 10 |M8X0.75| 10
TC6-GO1| 6 G1/8 | 55| 21 10 [M8XO0.75( 10

36 GINIER



